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- ¥ C~C++~CH~Java 2 Python #2543 5 » HER - BETFIERAEN D2 2 2 8RER
® & % m?‘f@: IS SPE S (T R AR AR | = rustringFAL A B & m s v N v 2 LR
EALSE G AN LTV SRS WA 5 8RR e AR
EHT R dek 3 L L2 B AN ORE AP HT T (258)
m # 31 — = witenBaseTo2_8_16base(31) » » 11111, 37, 1F
P %] » 168 — r¥r'tenBaseTo02_8 16base(127) » v $10101000, 250, A8
DRSS EN AT R ERARNE T NER S S & EsE 2 TPython/Java
7 ¥ Lg% import 0 C++ ~ C#7 7 11 g # usmgﬁ deor B
L= |2 F 7 & * recursivesn™ 3% > 7R3 ¥ L * goto

Ao T EHVEE R - NREM AR o A A - UM BN PR A - N
AVRERTATT | B AR AT AR AR S S R BRI - I AT S YHRES S SR - NIEAE
%FHJavaE SAEE - AEEEAE FHIJJB’J BuEET

R | (5 - 5 PG E ) 0 > FHRYIGREE - 580~ 170 -

4% B0

public class Test{
public static void tenBaseTo2_8_ 16base(int n){
int n2,n8,n16;
String str="";
if(n<0) System.out.println("ﬁi%l » &5 F\n");
else{
n2=n;
while(n2>0){
str = (n2%2) + str;
n2/=2;
}
System.out.print(str + ", ");
str=""
n8=n;
while(n8>0){
str = (n8%8) + str;
n8/=8;
}
System.out.print(str + ", ");
str=""";
nl6=n;
while(n16>0){
switch(n16%16){
case 10: str = "A" +str;
break;
case 11: str = "B" + str;
break;
case 12: str = "C" + str;
break;
case 13: str = "D" + str;
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break;
case 14: str = "E" + str;
break;
case 15: str = "F" + str;
break;
default:
str = (n16%16) + str;

}
n16/=16;

System.out.print(str);

¥
¥

public static

void main(String [] arg){

tenBaseTo2_8 16base(168);

}
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createLL > ;% § I Fad 2= = ¥ » i@ % chlinked list ©

class Node:
def ini

t (self, data):

return 1i

self.data = data
self.next = None
def [1inearSearchR (node, target, index=0, callCount=0):
callCount += 1 § increment the call count
if node is None: return (False, -1, callCount)
if node.data == target: return (True, index, callCount

nearSearchR (node.next, target, index+l, callCount)

def [LinearSea

rchL (node, target)]:

current =
index = 0
compariso!
while cur
compa
if cu
curre
index

if (_ name

trlng =

head = cr
target

found, in
print (£"\
if found:
else:

print (£"\
if found:
else:

return (F.

found, index, comparisonCount =[linearSearchL (head, target)

head

nCount = 0
rent is not None:
risonCount += 1 # increment the comparison count

rrent.data == target: return (True, index, C)mparison?ount)
nt = current.next
+=1

alse, -1, comparisonCount)

main__ "):

["apple”, "banana", "cherry", "guave", "mango®”, "pineapple"]
eateLL(strings)
input ("Please input the searching target --> ")

dex, call_count :[linﬂarSearUhR[hedq, (d{th)l

nNumber of recursive calls made --> {call_count}")

print (f"'{target)' found in the linked list at index (index).")
print (£"'{target}' not found in the linked list.™

nNumber of comparisons made --> {comparisonCount}™)
print(f"'{target}' found in the linked list at index {index).")
print (f"'{target}' not found in the linked list.™)

L
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:
(—)
Please input the searching target —-> guava

Number of recursive calls made ——> 4
‘guava’ found in the linked list at index 3.

Number of comparisons made ——> 4
‘guava’ found in the linked list at index 3.
(=)

Please input the searching target ——> kiwi

Number of recursive calls made ——> 7
'kiwi' not found in the linked list.

Number of comparisons made —> 6
‘kiwi' not found in the linked list.

it | e
class Node:
def __init__(self, data) -> None:
self.data = data
self.next = None
def linearSearchR(node, target, index=0, callCount=0):
callCount +=1
if node is None:
return (False, -1, callCount)
if node.data == target:
return (True, index, callCount)
return linearSearchR(node.next, target, index+1, callCount)
def linearSearchL(node, target):
current = head
index=0
comparisonCount =0
while current is not None:
comparisonCount += 1
if current.data == target:
return (True, index, comparisonCount)
current = current.next
index +=1
return (False, -1, comparisonCount)

def createLL(str):
myhead = None
for fruit in str:
this_node = Node(fruit)
if myhead is None:
myhead = this_node
else:
ptr = myhead
while ptr.next is not None:
ptr = ptr.next
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ptr.next = this_node
return myhead

if(_name__ =="_main_"):
strings = ["apple", "banana”, "cherry", "guava", "mango”, "pineapple"]
head = createl L (strings)

target = input("Please input the searching target --> ")

found, index, call_count = linearSearchR(head, target)
print(f"\nNumber of recursive calls made --> {call_count}")
if found:

print(f"{target}' found in the linked list at index {index}.")
else:

print(f{target} not found in the linked list.")

found, index, comparisonCount = linearSearchL(head, target)
print(f"\nNumber of comparisons made --> {comparisonCount}")
if found:

print(f{target} found in the linked list at index {index}.")
else:

print(f{target} not found in the linked list.")

2 FRdeT lavadi st 0 P AR P 5k (FREHES) RESER 0 2 RBET S E - [L:
R FARA P declass LinkedListi: 42+ (head, tail ) — ----- (304 )
[Elass tiode }(

int value;
Node next;
public Node(int vv, Node nn) {
this.value = wv;
this.next = nn;
System.out.println(“class Node \tconstructor \‘tvalue " + wv); }

i
= ¢
protected Node head;
protected Node tail;
public LinkedList() {
this.head null;
this.tail null;
System.out.println("class LL \tconstructor()"); }
public LinkedList(Node head, Node tail) {
this.head = head;
this.tail = tail;
System.out.println(“class LL \tconstructor(head, tail)"); }
public void addToHead(Node newNode) {
if (head == null) { head = newNode; tail = newNode; }
else { newNode.next = head; head = newNode; }
System.out.println(“class LL \tmethod \t\taddToHead " + newNode.value); }
public void addToTail(Node newNode) {
if (tail == null) { head = newNode; tail = newNode; }
else { tail.next = newNede; tail = newNode; }
System.out.println("class Node LL \tmethod \t\taddToTail " + newNode.value); }

[c1lass SinglylLinkedlList extends LinkedList Kk
public SinglyLinkedList(Node head, Node tail) {
super(head, tail);
System.out.println("class SLL \tconstructor(head, tail)"); }

}

public class PQ3_LL {

public static void [main(String[] args)| {
int [] data = {%e, 58, 7@, 38, 4@};
SinglylLinkedList s110bj = new SinglylinkedList(null, null);
for (int i=@; i<data.length; i++)
{ if (i%2==8) { s1l0bj.addToHead(new Node(data[i], null)); }

else { s110bj.addToTail(new Mode(data[i], null)); }

}

}

} // End of main class

0O test program
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AR FJavash = B/ F B g4S R 51)(Singly Linked List) » SIfH2HER9(E pr g - R ERSE Hsss e551)
steremis (7 il 1A addToHead () Ei<s &85 #4552 1% U i AaddToTail() - T2 HEEFETEEICE RHE -
RARSR 17548 bt A R B R SO T B e S AS SR B > FLrp R A A R B R R AR T T R B PR B R i

&y > HESYIEE R RE SO S R o] DUEHU S5y -

ZEhanp | (= - & LR EE TSR ) Bl > FFIRIAYREE - FH165-168 -
:
class LL constructor(head, tail)
class SLL constructor(head, tail)
class Node constructor value 90
class LL method addToHead 90
class Node constructor value 50
class LL method addToTail 50
class Node constructor value 70
class LL method addToHead 70
class Node constructor value 30
class LL method addToTail 30
class Node constructor value 40
class LL method addToHead 40
SR -

public class PQ3_LL{
public static void main(String [] args){
int [] data = {90, 50, 70, 30, 40};
SinglyLinkedList sllObj = new SinglyLinkedList(null, null);
/I 101 SinglyLinkedList(Node head, Node tail) -> A0 LinkedList(Node head, Node tail)
for(int i=0; i<data.length; i++){
if(i%2==0){
sllObj.addToHead(new Node(data[i], null));

SYRIERFT 90, 70, 40 [Y7ERET-Node(int v, Node nn)i% » FEITMfaddToHead(Node newNode)Fi#

Telse{
slIObj.addToTail(new Node(datal[i], null));

| 53T 50, 30 AYEEFST-Node(int vv, Node nn)f% » FIT:0laddToTail(Node newNode) 8

}
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Add Movie

Name of Movie:

Year: [2024 %
Movie Genre: | Action ~
Action
Rating Comedy
Ko O
PG13 Fantasy
® Adult Romance
| Science Fiction
Submit
A £ RIS Y HT MLER B (form) Ay FHE A LUK (3 i post 77 = 2 BE &R 14545 E A & I A2 =0
shemEm AL addMovie.php - &2 —{Ewebf2 AVEREE - $RRE T E LAV - 400 ST (text) ~ &
RS %7788 (checkbox) ~ it (radio button)%s - 22 5 Rz HAGKIE LEECARTE - AGUE —feEE B AigER
RS -
Eoteh 1 (=% - & PG HEERR ) B0 FFRIAGREE - H7-8 -
2. (Sl - 5 EUISFEREAGGE TS RES ) S5UUE -
:
<html>
<body>

Add Movie<br>

<form method="post" action="addMovie.php">

Name of Movie: <input type="text" name="movie_name"><br>

Year: <input type="number" id="year" name="year" value="2024" min="2020" max="2030"><br>

Movie Genre:

<select id="genre" name="genre">

<option value="Action">Action</option>

<option value="Comedy">Comedy</option>

<option value="Drama">Drama</option>

<option value="Horror">Horror</option>

<option value="Fantancy">Fantancy</option>

<option value="Romance">Romance</option>

<option value="ScienceFiction">Science Fiction</option>
</select><br>

Rating:<br>

<input type="
<input type="
<input type="
'submit™ value="submit">

<input type="'
</form>
</body>
</html>

radio” name="rating" value="Kids">Kids<br>
radio” name="rating" value="PG13">PG13<br>
radio” name="rating" value="Adult" checked>Adult<br><br>
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